Tel. +39 0308900145 - Fax +39 0308900423

s n ® OMAL S.p.a.
. u I n L Via Ponte Nuovo, 11 - 25050 Rodengo Saiano (BS) ITALY
. AU O N
- P— o Pty -
NEEE AR A BT A TR /510 Sh5: Brescia 6% 1661640175

EMPOWERED PERFORMANCE FKEM &4 € 500.000,00
ST

AT _ el

DAZRF % 1 7 B4R + AR il:fr-' _

tEBE A i"

MRE SR

R SRR

HH4%E : A15 Nm. Z 480 Nm.,

JEZEHEARE © DIN/AISO 5211 DIN 3337; FO3 - FO5 - FO7 - F10,

B4i%EHEZSK - VDI/VDE 3845,

TEkEf - 90°

i BEESKIBEENRIEN ; 2%~ E RV [EDARI TR SHK.

BFRITRDAMRS FHERT , XTN5.6 barE 1 T AT SH%E.

MRHADAGORE |, ATAEIZEAEITES LR SENAMURFHRERR, /R~ ADA15ZDA30 |, AENAMURIEE .

FiriB B ATEXBU TS & B 88 2014-34-EUkR HE, [t B! (ATEX) F=Rwm SRR M _ EYXFER
TAestt

B \-20°CZE+80°C,

SJEES 5.6 bar ; i KT{EES : 8.4 bar,

SIEHEN  2TIETRAOEETSS , TTUURE.

ERIBEAT  FRASFEENNHSE , SESRZK (NBR) HihE

&4 Be environmentally friendly...please don't print this document unless you really need to. 1/9



MRESTLRA

FHARE TR AR FART

SR
T2 B ECE TeihiEE AR S

B, REMREERHNN , ERIT50HRC
TR STEER BRI ER

SRS R TEE S A RN EL0s 3 IR A sm T HE

#®

ISPkl
B AR RID/RA T IRERZ
[kEARrE (ATEX) BBUES

B TEE S EIER

BREHES|EME  RMEKNERANASRE
BERBIRIIPI TR NFERIZN N BE S5

BT B

BT TR SRR ESR , WRE D T TR

HERT RIS KA AR AR
SHEREFMAEL , BT HITHER | e T RIRHTE)
SEEREHFMEL , BOTEE (-80%) , H4E/NT RERLEH

SHERELRMAL , BOTEKKNERE (WSB! : -40%cm3/Nm ;
B 1 -20%cm 3/INm) , BEIEMER T K4V K IIEE | F155H
BN B ESBHE T AT HE

RTRERAKEE (0.12(Ra) , BT IEEESERER
X —E AL SR AR KR TE
R ER B IER B M IR 2R

&4 Be environmentally friendly...please don't print this document unless you really need to. 2/9



T ETEMEFRSIL 3 REOED RIER&EIETEEELE

&4 Be environmentally friendly...please don't print this document unless you really need to.

3/9



R S#F49s= - DALS - DA30

L ‘ DA 15-DA 30
Ch.c);(hﬂ

ol
\—[ \</_/ \%B
Mu{i}wl

D GB; ’ﬁ/

oV

i ¥ - T
. * 1 *Anello di centraggio intercambiabile
OK 8 - Interchangeable centering ring

|
DIN/ISO 5211 - 26 Pl
DIRESOST =" Interfaccia NAMUR a richiesta Interfaccia secondo VDI/VDE 3845 a richiesta
NAMUR interface on request Interface according to VDI/VDE 3845 on request
S M5x6
/ N
@4
(O' /@(\I +
/ & N /
7 :5L| &)
| —— S LJ M5
Optional Code KBNI4015 Optional Code KBVI4015
R~Fak
=t DA015516S DA030516S
B & KGXI0112 KGXI0114
R~ DA 15 F03 DA 30 FO3
L mm. 120 134,6
A mm. 72,4 80,4
d mm. 28,2 32,7
e mm. 9 9
f mm. 2 2
g mm. 8 9
h mm. 10 10
n mm. 23 23
X mm. 59 68
j mm. 10,2 10,2
ok mm. 25 25
q mm. 50 50
p mm. 25 25
Qu mm. - -
oV mm. 36 36
oY x IRE mm. M5x9 M5x9

&4 Be environmentally friendly...please don't print this document unless you really need to.



ow X IR E mm.
FEIERE HER 0,079 0,148

FE Kg. 0,8 1,2

FrAM R
11802 THHLK wE =AM
1 47 1 CEMANEE4R
2 ORI - TR
3 VDI/VDEZEHR 1 AISI316LAEESR
4 SIENAMUR AR 1 AISI316LA454R
4 1 AISI316L 540
6 484y 6 AISI3 16454
7 e 2 CF8MAN4E4R
8 222 (A[GEHE) 4 AISI3 167N 454H
9 K% 1 AISI304 NEE4R
10 hE 1 AISI3 167454
11 %X 1 EE5N
12 SRMESMA ST 1 EE5

&4 Be environmentally friendly...please don't print this document unless you really need to. 5/9



14

16

18*

20"

22¢

il

T

THOTUA

L ES

(OLLEZN

AR A SRR

TR

24 TEEFTE EE
26 OFVIR (T]E) THEZEK
EEE SR

&4 Be environmentally friendly...please don't print this document unless you really need to.




Fer5#8EYwS - DAGO - DA4SO

DA 60+-DA 480

= X s
Ch. G h11
_.ﬁ._
n
ZL o |
— ==
/ U
|
< /a
Q@ + )
e \ |
| [T | *Anello di centraggio intercambia-

IF\,II;\;?,? ,I;;ggsa NAMUR O K8 w  *interchangeable centering ring
(on request)

Attacco VDI/DVE 3845
Connection to VDI/VDE 3845

R~

) DA060516S DA120516S DA240516S DA480516S
&M KGXI0116 KGXI0118 KGXI0120 KGXI0122
R~ DA 60 FO3-F05 DA 120 F05-F07 DA 240 F05-F07 DA 480 F07-F10
L mm. 158,4 192,9 246,8 298,4

A mm. 92,5 116,5 136,4 160

d mm. 37,7 46,2 56,2 68

e mm. 11 14 17 22

f mm. 2 3 3 3

g mm. 10 12 15 19

h mm. 13 13 17 19

n mm. 20 30 30 30

X mm. 80,3 94,4 117 139,7

j mm. 12,2 16,3 19,3 24,3

ok mm. 25 865 35 55

q mm. 50 80 80 80

p mm. 25 30 30 30

au mm. 50 70 70 102

oV mm. 36 50 50 70

oY x FE mm. M5x9 M6x11 M6x11 M8x13
oW X JEE mm. M6x11 M8x15 M8x13 M10x22

&4 Be environmentally friendly...please don't print this document unless you really need to. 719



SRUBKR SRR 0,28 0,59 1,18 2,38

BE Ko 1,8 3,3 5,6 9,5

FrAM R R
580 TR B FR wE £ AME
1 vl 1 NG
2 Ui E OBYFR 2 TSR
3 i o 1 NN
4 yR2z 6 N
Uiz 2 NEER
6 & 1 NEFER
7 gl 1 N5
8 T A 1 REREER A
9 a2 1 KRR
10 .88 1 EEW
1 THHOBLFR 1 AR
12 SMESMA ST 1 EEW

&4 Be environmentally friendly...please don't print this document unless you really need to. 8/9



EES

TEERETHT

EENE

AR

ORI

EHEE TR

&4 Be environmentally friendly...please don't print this document unless you really need to.

9/9




